Solutions 7.2 -Sping 2008
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9. [Tsin*(3t)dt = [T [sin?(3t)]” dt = [T [1(1 — cos6t)]” dt = L [T(1 — 2cos6t + cos® 6t) dt
=1 " [1—2cos6t+ 1(1+cos12¢t)] dt = L [ (2 —2cos 6t + 1 cos 12t) dt

Z[%t—%sinﬁt—l—%sinl%]::i[(%—0+0)—{0—0+0]] =

costa (l — sin aj f {1
15. da— cos o doy = cosada =
V'sina v sin o f v/ sin o

=f%’,z+u‘ldu=f(u_uz—2u3"2+u7“]du=2u1”2—%uwz-i—%ug"z—i—c
= 2u'/?(45 — 18u? + 5u*) + C = Z+/sina (45 — 18sin” a + 5sin*a) + C
2. Letu = tan x, du = sec® x dz. T'henfseczxtande::fudu: %u2+C‘= %tanzx-i—C'_
Or: Let v = secx, dv = secx tan x dx. T]lenfsec .rtan:r:dx—ft.dv——t, —I—C— sec x4 C.
35. letu = =, dv = secx tanxdr = du = dx, v = secx. Then

fx secx tanxd:r:=r&ecx—fsecxd;r=xsecx—1n|5ecx+tanx|+0.

45. [ sin 56 sin 6 d6 2 [ 3lcos(58 — 6) — cos(56 + )] d6 =%IL‘OS49C§9 — 3 [cos68de = 1sindd — L sin68 + C

49. Letu =tan(t’) = du=2tsec’(t’)dt. Then [tsec’(t?) tan®(t?) dt = [u*(} du) = HFu° + C = & tan®(¢*) 4+ C.

85. fae = o= [ _sin’z cos’ zdz = L [ sin®z (1 —sin’ z) coszdx

=%fuﬂ w?(1 — w?) du [where « = sin x]

=0
62. Using disks,
V= [ w(sin’ z)* de = 27 w,'z [;(1—cos2.r]]zd.r Y
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=z (1 — 2cos 2z + cos” 2z) dxr

=2 /2 [1 —2cos2z +2(1 — cosdz)| d=
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